(@)

50
Event Duration
B s
0.3
404 - fL
©
(0]
£
304 =
€
>
o
O
20 4 . .
Jp>-F Gp fL>-FGy,
10 1
. | ]
SITHTTITE T
0.0 0.1 0.2 0.3
Time (s)
(b)
500 :
Event Duration
°
2.0
4004
« B5
[ ]
o 1.5+ : - fL
[0) [}
S
300 = 1.01
g
3 0.5 7
2004 00 L
fD>—FGD fL>—FGL
100 4
II-l:llllll-l - T +
00 05 10 15 20 25
Time (s)

Sphere
50
Impulse
L]
1.5
401 -
]
£
Q101
>3
[oN
301 E
- 0.5
[
>3
(@]
(&)
204 0.0 . !
fD>—FGD fL>_FGL
101
.l ]
0 IIIIIIIIIIIII | I | | Il [ | Il
0.0 0.5 1.0 15
Impulse (N.s)
Ellipsoid
500
Impulse
[ ]
1.5
400 1 .
@ :
< 104
[}
(2]
S
300 g
= ~ 0.51 i
5 [ ]
(@]
° =
200 - 0.0
Jp>-FGp fL>-FGy,
100
II,-:II_II!.. L]
0.0 0.5 1.0 15
Impulse (N.s)

1.54

Impulse (N.s)
5

<
[$)]
1

0.04 "

0.1 0.2

Time (s)

0.3

Impulse (N.s)






